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topology
topology on a set S is a collection of open subsets
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° if the union of a collection of open subsets is open
° if the intersection of a finite collection of open subsets is
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For a metric space

Brlp) = Exes / dcp, x)- r }
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Induced TOPOLOGY
.

We equip s with the induced topology ECS CX where

E is open in S iff there exists an open subset ECX sit. E- SAE
4 if E is in S and X and open in X

EA : ( 0,11 closed in (0,0) : - X since [0,1] is closed MR LO, I]=Xn[0,1]

Induced Distance Function
If (S ,

d) is a metric space and ACS
,
then ( A , d ) is a metric space


